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—SAJ=X =54 S FALH 500,000& * 242 1,000
—=SJMEHW CCTV SN2 100,000& = 17CH 1,700
— AP A0l XI(92F) | XIZeld] 300,000& = 92t 2,700
—2==XclAlE A2t 300,000& * 1Jf 24 300
202 04| 5,400 5,400
01 2UHoitl 5,400 5,400
Om2I/4dH 2el 150,000& = 3% * 12&8 5,400
203 HRF&H| 2,000 2,000
03 AIMZFAAHRZ=EY] 2,000 2,000
OtIHH HRF& 200,000& * 103l 2,000
301 ZetE 4= 76,800 76,800
08 2LIBIE=ENUI 28,000 28,000
Ol M2 =(5=3, 42 S 2,000,000& * 4H « 23 16,000
ORI Sdy 228 (== 2,000,000 * 2% = 33/ 12,000
12 JIEt2 A2 48,800 48,800
Ot |S|dle dRE(S=2) 43,800
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2EA: 23
M NOIMEEY T4
& MeIldd (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
—4lHl ¥ 2l 40,0002 » 298 = 365 29,200
— A E S 20,000 » 2H = 365 14,600
oIl As A2t IHEZ 100,000& * 1H * 50 5,000
307 QIztoI A 158,045 0 158,045
01 A=Y P =4 5,000 0 5,000
omell Xz ¥ 22l 5,000,000& 5,000
02 QItFAE X 3,000 0 3,000
Oom=2| et gl K= 3,000,000& 3,000
05 oI 150,045 0 150,045
OtIIANE X3 K= 150,045,000& 150,045
401 Al&HI LS OHYI 30,000 0 30,000
= 30,000
01 AI&HI 30,000 0 30,000
SAHTHRD] HOIK A (MEASIALL) 30,000,000 30,000
= 30,000
s=2 =g ] 3,090 0 3,090
201 et 3,090 0 3,090
02 =Z2=294H 3,090 0 3,090
OZ232= ¥ MAl 690
— XtS XHA 30,000& * 13l 30
—SAMNERES 30,000& * 23] 60
—=E8E 600,000& = 13l 600
OXtgk 4 gtdl 2,400
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SN SR
Ha: gHoY e
ool SREAB (ol m )
SA-BH . (BH) - HIRAY - BES Ofl &F o8 gg;ﬁ; HDnz2
~HE HAOU DXA LB 1,100,0002 1,100
202 O1Hl 3,600 5,400 A1,800
01 =Lhottl 3,600 5,400 1,800
O2U0tHl 150,0002! * 2% * 122 3,600
MHABEHIAL &3 600,000 600,000 0
= 600,000
401 ASHILLOY 600,000 600,000 0
= 600,000
01 Al 600,000 600,000 0
OSMH+TEHAL EXHS Y 600,000,000%! 600,000
2 600,000
2T 50,000 60,711 A10,711
207 TN 50,000 50,000 0
01 elmEy| 50,000 50,000 0
O+ZRAZBSH A@H 2K (157H+3031 /=) 50,000,0002 50,000
CH Z el 6,930 14,630 AT,700
1S S3FY SNz 6,930 14,630 A7,700
201 Yer2gy| 2,330 3,030 AT00
01 ALl 1,830 2,530 AT00
OgurxgH| 1,830
—HAAWY BEAAH4B) 290
CO/HCE = | 80,0002 80
WITEE=] 80,0002 80
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SN SR
Hu: 8y

el toletd 2o (ctel &
SA - E S (3) - HIRA &k oy e =2

28FED 80,000 80
HICI 230 et 50,000& 50
—NEX HENA EEHI A8 7 1,540
k=19N 600,000 600
- VHS HIOIZ 240,000& 240
- CO/HCE &Il E&EItA 400,000& 400
HHASEHI| n¥E E&EKX 300,000& 300

02 332l 500 500 0
OAl & EHIS Xl 500
—EAEEIIH KAl L s2ldl(9 500,000& 500

202 (4| 3,600 3,600 0

01 =2UWabl 3,600 3,600 0
O=HbI 150,000& = 2% * 12& 3,600

301 LptB Az 1,000 1,000 0

12 J|IEtE &3 1,000 1,000 0
Ogtdegde AN8azg 1,000,000& 1,000

HOIZ2 X33t & el 7,239,683 4,681,493 2,558,190
= 200,000
= 15,000
= 7,024,683

Mol Held el 5,425,705 2,890,710 2,534,995
= 200,000
= 5,225,705

_24_




A 2F
¥ HII2 MHEE Y X

SRl MAYD] Ml 2l (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
HEAIE 2dH 795,076 1,337,103 NB42,027
201 LBt2AH| 211,326 217,323 N5,997
01 ArR2t2ldl 52,842 53,247 A405
Odtt=24| 27,692
—AMgDIHeld EaA 3P 1Y 100,000& = 23] 200
—AMYDIHeld MR 2 50,000& * 12& 600
—&AESE P 3,000,000& 3,000
— AT M 60 * 15,0000H 900
— MDDl Kl & M=l 5,000& * 108 * 128 600
—=24)| HIIZEAMN =2 40,000& = 13l 40
—GEITE™ HIIBAN =2 35,000& * 23| 70
—AJI0I2H0IE A2 25,000 = 2CH = 128 600
—HEAIE HIIZA =2 13,554,000& * 14 13,554
—ANSE=E HEE 22 8,128
Kot =& Z A 169,000 * 304 * 63 3,042
NES =ZZA 241,200 = 2I A * 43| 1,930
E X AL 394,500& * 42 * 23] 3,156
o1l =4l 1,400
—224 Hg=s 2 50,000& = 14Y = 23] 1,400
o228 23,750
—=Ay| 50,000& * 110 = 1Y 5,500
— 2 A H| 50,000& * 3652 * 1Y 18,250
02 222494 158,484 164,076 A5,592
OZ222=2 2 MA 140,244
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A 2F
¥ HII2 MHEE Y X
SR A0l Meld 2el

m
0
F]
o

2A

R

J2H
0l
IS

SN B CR(SH) - MRAY - B2 0l & 24
—MAHDIMeE MIIE(LEX) 56,034
Jl=2= 5,520 * 350kw * 12 23,184
A== 90& = 1,000kw * 365 32,850
—MYJIMel® ®IIE(E0 65,970
P E==1 5,520& » 500kw * 12& 33,120
A== 90& = 1,000kw * 365 32,850
—MYIIMelE WA MRS 30,000& * 12& 360
—&Jjerdate] a2 13,200
Mol del & (EXl) 450,000& * 128 5,400
MY DM el & (&0t 650,000& * 12& 7,800
-4 B2 200,000& = 1CH 200
—HIDEH B2 400,000 * 1CH 400
—EZEY EAFANERE = 70,000& * 23] 140
—EGZEY AU=sXtAl 100, 000& 100
—ANgXdliMeld RZHIAAE 3,840
e DNRELelll=] 1,200,000& 1,200
MEZ 220,000& » 12& 2,640
Od =zl 3,240
—MYIIMelE HEHI(AR 1,500& * 184 120 3,240
OAl &&= XYl 4,000
—HEs83 48 A4 X2 1,000,000& * 43| 4,000
OXtgh Bl 11,000
—HZAIE |X2teltl 2,500,000& = 23| 5,000
—CCTV | X2zt 1,000,000& * 23] 2,000
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SA 3
¥ HII2 MHEE Y X
SR A0l Meld 2el (

m
0
F]
o

- SRI(2IAH) - MR A

P
2

2A
R
J2H

0l
I

—MEMYIIRCIAE M| HRAIE X 2e 1,000,0008 * 43| 4,000
202 01l 7,200 7,200 0
01 =20 7,200 7,200 0
O=LHo ] 150,000 * 4% « 12€ 7,200
206 M 2HI 6,000 6,000 0
01 M2t 6,000 6,000 0
OMYII™eIEF =1l 1,000,000 1,000
OMYIIH2IE ¢ 5,000,000 5,000
401 AlIEHIL 20 570,550 1,017,580 A447,030
01 Al&HI 566,950 1,011,910 A444,960
OMYDIIXEIE SEJA 2 50,000,000 50,000
OAN2EE HEH FH 516,950
— AAIE H B 500,000,000 * 3.39% 16,950
— Al &l 500,000,000 500,000
03 A&y 3,600 5,670 A2,070
OANREZ HEH 500,000,000 * 0.72% 3,600
AAANE 29 845,847 201,247 644,600
201 Lty 129,862 120,962 8,900
01 AtR22/H 15,662 14,162 1,500
O] 15,662
—ZEp 1,000,000 1,000
-2 J|=H 66,0002 * 34 198
-2 JIEX 60,0002 * 4R 240
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2N B3
M HII2 MRS L KHel
SRl MAYD] Ml 2l CHe &
2. CHl (31 H]) - MISAH O &b o e =32t
— 42| 2 14,224
A2+ 1,000,000& = 13l 1,000
22T 227,800& = 33| 684
A2 420,000& * 12& 5,040
20| 5,000,000& 5,000
20| 1,500,000& 1,500
HIMTHES! ZEOH2 5,000& =* 1,000
02 3294l 114,200 106,800
Od=H| 81,000
—A2AE REU 1,500& * 180 ¢ * 81,000
OA & EHI R X | 26,000
— A2 sX2a 20,000, 20,000
— A2 MIZE A 3,000,000 6,000
OXtgA Ety| 7,200
—EaH 2| & A=HI (&0t 6,000,000& ~ 1CH 6,000
—A2)] $el & AZH| (LX) 1,200,000& = 1CH 1,200
206 M= H| 3,690 3,585 105
01 MZH| 3,690 3,585 105
OAL2AANE 48 2 3,690
—StHE 2,500 * 3kg * 3002 2,250
— A3 160& * 15kg * 300 720
— b A Ch 1,200& * 600kg 720
307 QI2to| A 11,700 11,700 0
05 QIZIRE= 11,700 11,700 0
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SA 3
¥ HII2 MHEE Y X

SRl MAYD] Ml 2l (St &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
OA2D] HIAH X el 260,000& * 45& 11,700
401 AIEHIZE20HY] 700,595 65,000 635,595
01 Al&H| 700,595 65,000 635,595
OA2t)| SHEE WA 20,000,000& = 23| 40,000
OAa2D| B 660,595
— A& Al & Al HI 10,595, 000& 10,595
-3t N2, S22 LAl 170,000,000& * 14 170,000
—SAAIE B 480,000, 000& 480,000
BETHEAE 229 357,080 68,110 288,970
201 L2 AY| 47,577 47,444 133
01 ArR2t2|tl 42,577 42,444 133
Ogt=2H| 14,077
— MK E +=EBBA =5 13,477
A =E2AA 364, 100& * 23|* 2 JHA 1,457
g2 2ZAA 331,000& * 123 * 2002 7,944
HEAIE =9 X6t 2 A 169,800& * 30 * 43 = 2044 4,076
— L&A HEE 2L 3,000& * 20094 600
oYdxz 28,500
—&Ex 0| Xt 9,500& * 10&€ * 300! 28,500
02 =324l 5,000 5,000 0
OAI&E &HIK X4l 5,000
—&ESHelAlE X 22l 5,000,000 5,000
206 MM ZH| 43,350 20,666 22,684
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A Ry
& Holg s 2 el
ool MEdl Mel® e (o e
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
01 M=z 4l 43,350 20,666 22,684
OHExHMeAIE dE2L (LX) 22,684
—ZStH2E 120& » 200kg * 365 8,760
—HAAAMT 453 * 200kg * 365 3,285
— =K 3,000& » 10kg * 200 6,000
— A 2,000& * 0.2kg * 365< 146
—S- A 4,000& » 1kg » 365 1,460
-y E4E 2,000& * 500kg * 23l 2,000
—Z2&H 5,000& * 0.5kg * 365& 913
—PHZ ALK 5,000& = 2 * 128 120
OFE+HelAlE A2 (E0) 20,666
—SclEget MH2E 1882 * 700kg * 12& 1,580
— b AT 2303 * 150kg * 123 414
— ot 1158 *2,000kg * 128 2,760
—E4HHI2E 1882 * 2,000kg * 12& 4,512
— 443 90& = 1,000kg * 128 1,080
—22l4 8,600& » 100kg * 12& 10,320
401 AlEHIL 204 266,153 0 266, 153
01 A&l 266,153 0 266,153
O&Z= ROAE RXl2e 246,153
—gaE, @Weg el WM 191,401,000& = 13l 191,401
—&=+ R0 &ABE FY 33,212,000& 33,212
—220H3 7 10,100, 000& 10,100
— g2t |RXE=H| 11,440,000& = 13l 11,440
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EE
D HOIE XS Y Al
MDD MelE 2e

m

0
e
0

SN HE - SI(E) - NRAY - BES &k oy e =2
O&F&===HMalE &IIEX &X 10,000,000& = 14l 10,000
Os==+ gt&cetel X 10,000,000& = 14l 10,000
HIISHM2IAlY =8 QIdoA 1,087,496 1,013,350 74,146
201 et 4,800 5,310 A510
01 AtR2teld 4,800 5,310 A510
o2&+ 2,800
—HJISHM2AIE = FUXNJEAHM 3lo+F 2,800
FAUX2EAM(ZXI) 70,000& * 7% * 23] 980
FUXI2AE23 (X01) 70,000& * 138 * 23l 1,820
Oogx=z 2,000
—HIISM2IAE FHOSFL SAXNAS HHSI 500,000& =+ 20H = 23] 2,000
203 ¥RF&dl 1,000 1,000 0
03 AIMFAHLR =] 1,000 1,000 0
OMdDIMeld =3 QRANLHSF =8 200,000& = 53| 1,000
301 LptBaz 26,646 2,000 24,646
12 JIEIE &3 26,646 0 26,646
OMdIIMelE FELANRE Bo= 45,9403 » 290 * 2 26,646
401 Al&HI LRI 1,035,050 1,005,040 30,010
01 A&l 1,029,900 1,000,000 29,900
OHEZMEMY DX CIE CIAdH A A (ZD}) 500,000, 000& 500,000
OMEMYIIMelE =8 2oL 529,900
— & AlE A 29,900, 000& 29,900
—E X0 500,000,000& 500,000
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A B3
M HII2 MRS L KHel
SRl MAYD] Ml 2l (Gt &8
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
03 A& 5,150 5,040 110
OEZMES MY DMl & QIR6HAAIS 3,150,000& 3,150
OMESMYIIHel & F=8 DIRGHA 2,000,000& 2,000
405 RHabFESHI 20,000 0 20,000
01 XNAMLEEFSHI 20,000 0 20,000
OFEHeld HY2EJ| 2 20,000,000& * 1CH 20,000
AMEFM D] ALAIE AR 2,333,500 270,900 2,062,600
= 200,000
iy 2,133,500
401 AIEHIZL20HY] 2,333,500 270,900 2,062,600
= 200,000
o 2,133,500
01 Al&H| 2,257,000 270,900 1,986,100
OFYEZ HIIZAZANE AX 2,257,000,000& 2,257,000
= 200,000
= 2,057,000
02 Ze2ldl 54,000 0 54,000
OFYEZ HIISAZAIE A 9,000,000,000& * 0.6% 54,000
03 Al =0HbI 22,500 0 22,500
O&YE X HIIZA2ZAE &X 9,000,000,000& * 0.25% 22,500
ANEBEESZ MHEAE 22 6,706 0 6,706
201 LBt AL 6,706 0 6,706
01 ArR2t2|tl 6,706 0 6,706
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A 23
& Holg s 2 el
e Adl Meld z2tel &R
CERI(B) - HIBAIY - Ba S &k oy e =2
Ooget=8Hl 6,706
—MNEESZ= HEHE 22 6,706
LR =EAAM 331,000& = 43| 1,324
Kot =2 HA 169,800& * 3HA * 63 3,057
NHE= =Z2HA 241,200& » 204 * 43| 1,930
- EYXA 394,500& * 13l 395
FHEZE =4 1,314,413
Mol SHEI 2& 95,160
201 et 77,760
01 At 2teldl 70,400
Oget=EH| 69,200
—MIISEM #E3=F 2L 1102 * 500,0000H 55,000
—SEHNSE ST 300,000 * 1374 3,900
—nASEAME EE 200& = 10,0000H 2,000
—EmII2 AE 1502 = 2,0000H 300
—MYIIEEHEI EE2= NE 1,000,000& * 23] 2,000
—2FAIHOI2H Ols & Xl 400,000& * 30# * 53l 6,000
ogxz 1,200
—=2Y MEHIIE 2&&H 2= 400,000& * 30K 1,200
02 22944 7,360 5,200 2,160
OZ232= ¥ MAl 6,360
—ZAIFHOI2H QIHY AtEZ 350,000& = 123 4,200
—ZAIDtHI2H EIIRS 20,000& * 9CH *» 123 2,160
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JlEg M3 2 H™al
23 x4 Crol A )
SN HE - SI(E) - NRAY - BES &k oy e =2
OA&EHI S X 1,000
—ZAIFH0I2H +=cltl 250,000& * 43| 1,000
202 O4dl 5,400 5,400 0
01 =UWoitl 5,400 5,400 0
OMDIEESEI gd2FA 150,000& = 3% * 12& 5,400
301 Lt as 2,000 3,000 A 1,000
12 JIEt2 A2 2,000 3,000 1,000
OMDIEESI dNZAF 2,000,000& 2,000
307 QIztoI A 10,000 10,000 0
05 CIZtRIEZ 10,000 10,000 0
QHJIE =28 SFJ| HMalhl 10,000, 000& 10,000
E2EAT KXl 31,800 20,700 11,100
201 et 31,800 20,700 11,100
01 At 2teld] 9,600 9,600 0
Ooget=gHl 9,600
—E2HEAX By 2L 800,000& « 12& 9,600
02 =294l 22,200 11,100 11,100
Os322= ¥ HA 2,200
—C2HAX BEMNERES 70,000& * 23 140
—E2EAX EER 2,000,000& 2,000
—E2EAX ASIHA 60,000& 60
OXtgh Bl 20,000
—E2FALX 2 R BR 10,000,000& * 2CH 20,000
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SA 3

& Holg s 2 el
ool HESA T4 EEE-E)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
MY Dl =T 28 AE 1,187,453 1,020,000 167,453
201 LetEd] 8,250 0 8,250
01 AtR2teld] 3,750 0 3,750
Ooget=EHl 3,750
— Ml =AXE AXFHE GPS 2T YL 250,000& * 150K 3,750
02 2244 4,500 0 4,500
O3223 % HA 3,600
—RIX=H GPS AIAE AMEZ 20,000« 1500 = 123 3,600
OA&EHI S Xl 900
—AXF=H GPSAIAE RS 5,0008 « 15CH » 123 900
307 QIZtolA 1,179,203 1,020,000 159,203
05 CIZtRIEZ 1,179,203 1,020,000 159,203
OMdII=& 28t BI2te & 683,988,000 683,988
OsalsMhdIl =26 22t 292,215,000 292,215
OSAlE HIISXHel 2UAE 203,000, 000& 203,000
NEAHEE 499,565 668,973 A 169,408
= 15,000
= 484,565
MEHIIZ 25t 287,765 170,973 116,792
101 el H| 234,815 133,743 101,072
10 JIZtH2Z2AHSES 234,815 133,743 101,072
OEgd Hass 2l 234,815
—JlE=s 45,940 » 14 » 290 186,517
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2EA: 23
M Hols MEE @ XMl
el AAEHES (chel: =&
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
—5L2R+E 45,9403 « 148 ~ 41 26,370
—40 22 212,887,000& * 0.103 21,928
201 et 46,350 30,630 15,720
01 AtR2cibl 46,350 30,630 15,720
Ogtt==2H| 46,350
—&A4X BYIIEXN 7Y 5,000& = 100z 500
=M HEEA et 50,000& * 507K 2,500
—gshlEe =g #¢ 300,000& = 507H 15,000
—NEEE =T EII(PPEM) ¢ 350& * 3,0000HK 1,050
—HEgZds B2E 7Y 5,000& = 100K 500
—SASXADI EEF=HEI| Y 50,000& * 2007H 10,000
—HHE&6tE |2 600,000 * 14044 = 23] 16,800
202 044l 5,400 5,400 0
01 =UWoidl 5,400 5,400 0
O=U0otl 150,000& = 3Y * 1228 5,400
303 E&=z 1,200 1,200 0
01 Xz 1,200 1,200 0
OMEESH =88 AMa= 1,200
— i 500,000& = 1JHSH 500
- 300,000& = 1JHSH 300
—&d 200,000& = 2S¢ 400
Hess =% s 131,800 125,000 6,800
= 15,000
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A 30
M HII2 NS 2 Hal
chel TR THE R (el @)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
MetsE =8 EH3 = 116,800
301 et a3 115,000 125,000 A 10,000
& 15,000
i 100,000
12 JIEt2 &3 115,000 125,000 210,000
=38 HUlE =HE4AH K& 115,000, 000& 115,000
& 15,000
= 100,000
303 Za= 16,800 0 16,800
01 Za3 16,800 0 16,800
OH s<gldg =& 23 1,200,000 * 142™ 16,800
MetsE 8N4 &5 80,000 373,000 A 293,000
401 AlEHIL20bI 80,000 373,000 A 293,000
01 A&l 80,000 373,000 293,000
ONgEs B EXISA 30,000, 000& 30,000
OM&ss tteY g+=IZESA 50,000,000& 50,000
HRes(&Z ) 1,550,000 1,000,000 550,000
LIEHHXI & (E ) 1,550,000 1,000,000 550,000
HEHAXIE(2Z 1) 1,550,000 1,000,000 550,000
02 JI3dES 1,550,000 1,000,000 550,000
01 JISE=3 1,550,000 1,000,000 550,000
OHJIZHMelAd =3 FoIXJAJIS(&0t) 1,050,000,000& 1,050,000
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